A Major Scale Workout 1

Willie Matheis

Practice the following exercise with the different articulations below:

Clarinet in Bb ;E -

(@ T q i ! i ! i i !
o *:i‘a—. A 4 *i?"é—? . ® 9 *?L‘?—.\T“?’
A"~ ~_ 7 g%~ TG~ '
4
N u 4
P A il N
) ;?"‘ P e ;:i“ P e ;:i“ P e =
8
H 4t
P’ A _ Dl N
BiCl (ot — — — ; 3
Q) if"“—Ldj. i’,“‘—L‘j. i.‘ o a
12
H 4t
P A IV
BbCl. (gt —— JJm. — 4
R S i R s S e
16
P | | | ‘ 2
Bb CL {ry— o o ———— o ® ® o } <
&

F
%
F
hf

Bb CL (’Lg h —

) 4t \ \ \
Bb CL. ({9 i o oo, P am— e v fjaJ*i‘ J ¢
o)
28
0 4k | - =
Bb ClL %Z* o @ ® e e 73
o) \ \

Willie-o-mundo ©2015



